9/22/2014 Print Test

PRINTABLE VERSION

Practice Test 2

You scored 100 out of 100

Question 1

Your answer is CORRECT.

Given the following functions, find the domain of f/g.

f(x)=5x2—2x
g(x)=x2+2x—24

2
2 @ (0. U yee)  § . FU) 2 x -

Y LSx-z\

p ! -
b) (o, 2/5)U(2/5,m) 9 g xiv2x-24 (x- 9P +46)
¢)  (-00,-6]\[4,%) Yz 4 Ni-0
d) (-D:I’ —6)U(4,DCI) ¢ m % )
- 4
e) (' oo, '4)U('4: 6)U(67 oo )
f)  None of the above. (- D, -‘03 v L‘(.,‘&S Vv L 9 ) °°)
Question 2
Your answer is CORRECT.
Find the domain of the following function.
/ X+ 20 /\7
flx)=XE""- 8 S/N\
x—2 X 2' L
’ W
2) - (-,2)UQ2,®) X-270
b)  (,m) X#2

0 [6,%) -6

N

d) @[-6,2)-'(2,00)
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e) ('67 Z)U(Za D:I)
f) '~ None of the above.

Question 3

Your answer is CORRECT.
ALWAYS | FACTOR FIR.ST |

Given the following function, identify any vertical asymptotes.

3x —9x = 3XLX“3) 3X L%B)

J(x)=
6x — 54
THL09) L))
1
x=—

) e - 3x

by @ *=-3 ((%X+3)

¢) None

S K+3 =0

X=-3

e) x=0

f)  None of the above.

Question 4
Your answer is CORRECT.

Given the following function, identify any holes. “O\& ‘l' x:3 %\?

N

(-3 1) Joyo2imon 1 3XUX-3) | 3% (4°3)
» oL UG- L Lds)

b) ® ( %) &’): L1 Hole: (3, ‘,q.>

new ((x+3)

¢)  None. {:Ls): 3(3) : 9 . 1= l_
@ 6 (5.0 new LL3+3) Gl 3 4
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e (=3,0)

f) ~ None of the above.

Question 5

Your answer 1s CORRECT.

Let

Find the y-intercept of

L)\(:o

a)

e
6
s
e

f) = None of the above.

Question 6

Your answer 1s CORRECT.

The graph of the function

has a horizontal asymptote. If the graph crosses this asymptote, give the x-coordinate of the
intersection. Otherwise, state that the graph does not cross the asymptote.
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2 X
)= szw3
f(2x+3)

fal)13) = F13)

fiz): 28372 Le-2 .

) ¢
W

L(3)*3

(o, q/zl)

x2+4x+4

I

I3+ 3

A_
4
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B AL N
b) x=-5 le“’ "tx+3
Je T 200 4y = 2074 443
‘ A . %fl
o 24 Bx4 8 = 4% 4y +3
d) < gy= -5

e)  The graph does not cross the asymptote.

x: %y

f)  None of the above.

Qllesti()n 7 (LDQk Du_t _qu cnd Q% ‘t’lﬁl} Pra[;ll ce —{,G.S-t ,.?or' a &M lﬂ\r' quct,'l-:g,\ )
Your answer 1s CORRECT.

Given the following function, find /o g.

flx)=1
glx)=2x—4
a) 2
i @l Foq: Flaw) = Flax-d)
0@ ! =l
d) © 5—2x
oo To Qind aoQ;

( o)) = [fe>) = 2-¥&)+-4
e = g [

f)  None of the above. = 20 *% :@

Question 8
Your answer is CORRECT.
Given
Ff(x) =x2 +4x+1
find the difference quotient ij </\7
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Jlx+ k) —Flx)

B . hFED
and evaluate when x=1.
L stitute & Sinpli

a) S T. .f."x*h): Lx*h) +qLX‘~h3*l‘- suostitute | 'T*Fa

6+ Th+ i = X2y 2hxe W3y 4+4htl —
b) # Suotad 3 sahr\;gva

s5+6n+4 L. “:lx-kh) - f00= )(}:- AN ST %-r Yl t (}‘- ‘H’)
) A )/. +‘u

® 6+ = Zhxth’

¢ ?lit "\ ?\'Mﬁon & Simr‘i‘ “ w q h L
O T g Famy -FOY L T ih )y (2ened) - il
f) ~ None of the above. —

Q tion 9 h h A Eva;’:nj“
uestion & .
Your answer 1s CORRECT. When =1 2 +4+ h= |l +l" -

Given

flx)=x"-4x+38

find the difference quotient

Jlx + 4)—f(x)
P , RED

4 dx+ ok
Y %'tEPQ In 'J(LL acloleaaleol |°48e.|
3¢+ 3hx+ A4

I

A ikt ik dx -3k 48

P2
c)
PR N BT ol < ST S Y I -
P2
d)
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f(x)=x3—4x + 8

for
(X+h) LXth) Lvh) < (Y’
- 1

< - (x4h) - 4Lx4n) 4y 8
Fl*ﬂ\) (X Lu,hxw, "y.‘li-h)

I .
Fram= X7+ 3hX 13\.11 ﬂ.’--u-qm 4 Xs* ¥2*h+ 2hyds i 4 W + W3

B
Xt 3 s 304 2
/“

.le.ﬂ‘\- 'F‘.XB: XA1'3‘\X21" 3htx '\'h;°%-"lhf} - L%&-%'\'ﬁ
= 3w 30T a3l 4y,

.
flx4n) - FLO Sh*z*'s"‘z"*“;“fk: kL3x1+3Lx+h‘-q)

% h "

"

343X+ W2 -4




Question 9 (hvw e Necsion .\or v'\%eﬂ.n[.e &uo%ieﬁ()

Given

find the difference quotient

b)

¢)

d)

)@ " h-1) (1 +7)

0

x+ A4+ 2
(x+24-1)4

3

<. %(,u‘n) -

(x=k=1)(-1+ x)

x4+ 24 kx4 42
h(x+h-1)

A2—2A+.;£

E;

None of the above.

_ x+2 | Rr2
oL i e x-1

()42
{(xth)- L

T foet) - foo = KeheZ a2
Y+h- | X-1
Sos ol
= ey e [K*iﬂﬂn -1)
e (1) (xa)  (eth-D

(x"—x-r xh b +2x '?-) - (ﬁt-r xh-ar+2x -tzl.-z)
B (x+h -1) (x-D
_ N AV N +)4(;&/—/Kl- )kk.to\”—,zx’-'z%
(x+h =D (x-1)

- —3h
(x#l-D 0D

M. - o -3k
—_— (xth-Dl-1)

T X

- 3

(;U-Pq _|\[>(-l)
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i TG 3 Sy NI
e)

f) '~ None of the above.

Question 10
Your answer 1s CORRECT.

Assume the domains of f and f “Lare (-oo,4/3)(4/3 ,e0). Solve for x, given that

-1y (4x+3
=6
7 S (3){—4]
\ d and

f(6)=%
-
2 Fox |y B2 x y
B 21
b 4143 Hx+3
20 L b
by 21 3x-4 3x-4
|
1 S \
¢) 21 ‘ ke : b
_43
d) el qx*i X Goss-Produ.ri
_64 3x-4 -
e) 21

(b (4x+3) = 3x-¢
24% +18= 3x -4

f)  None of the above.

Question 11 2Ix = =22
Your answer is CORRECT. o =k
x - —
Find the inverse of the given function, if possible. rl

flx)=4 x2 -2
ﬁ ﬁ where\. xzol &J Domona MA\QLS -P one -to ~one

invertible
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i R-&\A.lr:l:t = E__ AHSWU—
a) O F (0=4x +2 T tj:‘ht-z.

J, ; gudoeege 4 l
b) 7 (x]=?\/x+8 . X:l-[a‘-z, .f =3 X+2

%o\‘m?‘n
¢)  f(x) does not have an inverse. T‘ X+2= ﬁ/ 3
TACEE N
d ® 2
- \‘xn \Rn. X421

o) © 7 tri= -4z —2 S 2

Question 12
Your answer 1s CORRECT.

Find the coordinates of the center for the given circle.

x2+10x+25+y2—14y=0 ﬁ ﬁ

a -5 - 2 " .
b)  (7,-5)
P2
9 ®(5.7) (x+5) "+ Ly-P) "= 49
voe Center @ L-5,F)
e) (7,5

Question 13
Your answer 1s CORRECT.

Find the coordinates of the center for the given hyperbola.

~9% —108x—452 + 165" + 325=0
a)  (6,1) ‘Q(xl-rlzx-t L} + L '-‘}l'l'ljfﬁ_\ '-"iSL-tL'm:*Ui'_l_
b) (6.1 _q | x+L) + n,(.*ﬂ)‘ = 452 =)L) + 16
OGO g o)t A Ly = 14
L 144 14 4 144

https://www.casa.uh.edu/CourseWare2008/Root/Pages/CW/Users/Student/Grades/PrintTest.htm M4




9/22/2014 Print Test

e) @(6,-1) _(x.“.)t + (_}ﬂ\% - Center: (6™ -l)
Question 14 T ——
™ ]

Your answer is CORRECT.

Complete the square to write the equation in the standard form f(x) = a(x - h)? + k.

State the coordinates of the vertex of the parabola.

eV 55 B0 =18

® - (6,-2) =-5(K-wxe () -1 456
=

S = - 5(4-6) ~11% + |$0

v y = -5 () 4 2

d) ' (-30,2)

0® (¢,2) _":7 \ferjc&x = (Q)Z)

Question 15
Your answer 1s CORRECT.

Complete the square to write the equation in the standard form f(x) = a(x - h)2 + k.

f(x]=—%x2—2x

L
f=-ta-2tes foy: m(xeax 4+ ) - (A) 1Y)

a)
L (x+2)° Foo: 2 (x42)°
b Flx)==-—(x+2)"+6 (x) - = + 2
W N R
) 2

S == (x—4) +2
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Question 16
Your answer is CORRECT.

State the equations of the asymptotes for the following: ik

2 2
& PDr—=o)-  —1)"
o — (9) (16)

g
Lt

1 \{u{‘\'CaL\ Ha]ou’]?v’a. — 'a" ix
a) {y+35=3x—3, y+5=-3x+3}
b) {y+5=4x—4, y+5=-4x+4)}

o 0 {r=5 x=1)

3B 5. 3 3 8=
0 ® [;1:—5—43: R y—2>5 4x+4]
-y
a4 4 44 =k X~
N [}r 5—3.7: 7 y—>5= 3x+3] 'j _(, )
Question 17 | N‘J‘S =.ix* i
Your answer 1S CORRECT. Yy Y

Graph the following system of equations. How many points of intersection are there?

x2+y2 =25

(9)  (36)
a) 0 b 4 Pol;b of
b) 1 intersechon
)04
d 6
e 2

Question 18
Your answer is CORRECT.

Find the x-coordinate(s) of the point(s) of intersection for the following equations:
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i\z ik 9% L3y =7 qQy* "(."i)l:l,

54

b) R 3 Yot |
_23 _43 ‘* \

c) ‘ - 6] 'tz:—q-

d).[_% g '}‘i%

=
) I6,6’ i-slb, 516} \
Question 19

Your answer is CORRECT. .
our answer 1s CO CT r‘1h'tz
State the translation of the key point (0, 0). l

J(x)=|x—2|+5
a) (5,2 wp 9
riah‘* 2 r

b) (2, -5) (0,0) — (23,0)

0@ 5 5
l2,0) ——| (2, 5)
d) (-2,-9)
e) (-2,5)
Question 20
Your answer 18 CORRECT.

/Y=o
Given the following function, find the x-intercept(s).
, - 3
Ff(x)=(5—x) (x—4)
a)  (=5,0) (4,0) S-¥=o X-4=0o
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b) @ (5.0) (4,0)

Print Test

9-X=0 .
3 —atec cep ]
¢ (0,-320) =¥
X=0
d) © (=30}, (16, 0) L=t (0) = (5-0) [0 -%)
T 51 (5,0) L4)0) f
e) (5=D),(_4:D] = —20
Question 21 'a""‘f [0|*20)
Your answer is CORRECT. T
Find the inverse of the given function, if possible. AK A
¥ - 6x+3 i/ ‘ i\(
2x+2
: 3 -
f—f(x]=2x—2 I’t“ “_‘?_. Kt\uf‘tc
a) [ x42
¢
g -342x N\ > i ﬁxﬁh"f 2 ’3
= L. — = 2X
b) @ x ) 7 2y 42 Y
Solv'C - 2%
) - f(x)d th i :E\’ ) h
c x) does not have an inverse.
2y 42z by+3
Ao 3mbdb o - 2x-3
a s 7"“3"0‘3: 3-2x 00 z_;x
5 = Jlax -y = 37 hnswes
= 3-2x -
Question 22 ‘3 2% -l - \
Your answer is CORRECT. :
Find the inverse of the given function, if possible.

3 xz- 5? lj
5 Y= 51'23 e Z
-1 ek i ¢
by o x)=(2x=5" 2 s Redrich
r 3 = - A —
- 1
¢)  f(x) does not have an inverse. X S ¥ j ‘a

/'7 2 d Ot~ Ain
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o @7 B="gHeT g,
o 513

0 S W=7 9% g<x

Question 23

Your answer 1s CORRECT.

Which of the following functions will generate the graph shown below?

1~

0.8

0.6

even () Ning
205: -1 © |
7 KN i
-4 -3 -2
P“Ahl‘ ¥

x' (Xt \)z (.X'QS

fud =

2 2 4

a) Fflxl=ix—1) (x+1) x

by o Flx=x (x— 1)

o @ fH=(x—1 (x+1)x

QO SH=x—1x

o O flx=(x—1) (x+1)x
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f)  None of the above.

Question 24
Your answer is CORRECT.

Which function generates the graph below? The point ( 2, 3 ) is on the graph.

Pum+= |X\ 51 . cePled ab.ul‘

(%3) X
foo = - | x-2l +3 gkt 2
° u.r 3

a) O Sf(x)=|x+2|+3
b) O f(x)=-|x+2| +3
¢) O Sflx)=-]x—2] -3
d) @ fx)=-lx—2|+3
e) O flx)=|x—2]+3

f)  None of the above.

Question 25
Your answer 1s CORRECT.

%_;,\f—. 2 & [(9J -&)
Find the linear function f with y-intercept -3 and f 1 (-5) = 6.

(')t & f6)=75
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-9 . "
y o JEmg A ay . -5-L3)
AX L-o
f(xj=ix+3

Print Test _ ,_tg
S ,J veoper
2@ T3 (0,-3) (v)-%) < f

._Z_ = -1 <<) S)or:a

v 3

d O Sflx)=-3x—3

N f(xj=—%x+3 ‘J

—

3

5.,3:'.!5.)( <__J equaji{aﬂ

X -3

f) '~ None of the above.
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Question 7 k An 5)&"“’ \,U Lo f\\

Given the following function, find gof.

)

b)
¢)

—) H®

f

10 x 10

- -+ -3
x—2 xX—2

5x cse 2
S5x—6 5xr—96
10 x é

S5x—6 S1—6

5:c+5

x—2  x—2 B
Bl Badhid
X=—12

None of the above.

- 14—-1
X=4
g(x)=5x—14



